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DIPLOMA IN SECURITY MANAGEMENT 

(DSM) 

Term-End Examination 

December, 2014 

BSEI-006 : SECURITY PERSONNEL 

RESPONSIBILITIES 

Time : 3 hours 	 Maximum Marks : 100 

Note : Question No. 1 is compulsory. 

In Question No. 2 attempt any 7 out of 

10 questions. 

In Question No. 3 attempt any 3 out of 

5 questions. 

1. PART A 

(a) Choose the correct answer : 

(i) 	Guild sponsored security is called 

(1) Corporation security 

(2) Corporation troops 

(3) Informers 

(4) All of the above 

10x1=10 
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(ii) Industry is defined as 
(1) All manufacturing units and 

commercial organisations 
(2) Agriculture farms 
(3) Other miscellaneous units i.e. 

colleges, schools, hospitals, etc. 
(4) All of the above 

(iii) The primary role of security integral 
to any institution, organisation and 
company is 
(1) Protective 
(2) Preventive 
(3) Detective 
(4) All of the above 

(iv) The main objective of patrolling is to 
(1) Maintain security of premises 

only 
(2) Maintain security of property 

only 
(3) Maintain security of premises 

and property 
(4) None of the above 

(v) A private security guard giving duty 
in the uniform of Army, Navy or Air 
Force can be imprisoned or fined 
under Section 
(1) 18 (1) 
(2) 19 (1) 
(3) 20 (1) 

(4) 21 (1) 
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(vi) Industrial security can be divided into 

(1) Four basic categories 

(2) Three basic categories 

(3) Five basic categories 

(4) Two basic categories 

(vii) The protective role of security seeks to 

(1) Protect persons only 

(2) Protect persons and property 

(3) Protect persons, property and 
information from internal as 
well as external threats 
including aggression 

(4) None of the above 

(viii) Security is classified into 

(1) Public security only 

(2) Private security only 

(3) Public and Private security 

(4) Public, Private and Personnel 
security 

(ix) Watchman system gives duty to 

(1) Persons of any age 

(2) Persons who are physically fit 

(3) Persons of the age of 20 years 

(4) Persons of the age between 
20 and 65 years 
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(x) The objectives of access control is to 

(1) Prevent access by unauthorised 
persons, materials and vehicles 

(2) Prevent access by unauthorised 
persons only 

(3) Prevent access of unauthorised 
materials only 

(4) Prevent access of unauthorised 
vehicles only 

PART B 

(b) Mark True or False for the following 

statements : 	 6x1=6 

(i) During the industrial revolution 
people started migrating to urban 

areas. 

(ii) Under Section 12 every private security 
agency must exhibit its licence in a 

conspicuous place of business. 

(iii) Anybody above the age of 65 years can 

be employed for security duties. 

(iv) Confidential information should not be 
discussed with friends but can be 
discussed within the family. 

(v) Assignment instructions are 

confidential in nature. 

(vi) Security officers do not go for patrol 

duties. 
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PART C 

(c) Fill in the blanks : 	 12x1=12 

(i) Merchant police was private security 
forces to guard 	 
and 
	

3 

(ii) 	 , protective, detective and 
	 security are four basic 
categories of 	security. 	3 

(iii) Inspection by 	 is generally 
more serious and 
	

2 

(iv) A qualified professional security 
consultant could obtain 	  
from 
	

2 

(v) A security supervisor is responsible for 
the 	 and 	 of the 
guard force. 	 2 

2. Attempt any seven questions out of 
10 questions : 	 7x6=42 

(a) How does detective role help in security ? 

(b) What is fraud ? How does fraud take place ? 

(c) What is the difference between a site and 

post instructions ? Explain. 

(d) What is the difference between formal and 

informal inspections ? 

(e) What are the duties and responsibilities of 

security supervisor ? List any six of them. 
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(f) List out any six general instructions that 
should be given to a security guard deployed 
at the gate. 

(g) What are the points that should be checked 
while carrying out structured security check 
of the perimeter of a factory ? 

(h) Why is it essential that a security officer 
should keep everything confidential about 
security matters ? 

(i) List out any six duties and responsibilities of 
an assistant security officer. 

(j) Every private security agency is required to 
maintain a register. What are the contents 
of this register ? 

3. Answer any three questions out of 5 questions : 
3x10=30 

(a) What is the importance of industrial and 
personnel security ? 

(b) Write a brief note on classification of 
security. 

(c) What is the type of information you should 
find out about your own assignment ? 

(d) What entries should be made in a daily 
dairy ? 

(e) What are the duties at vehicle/traffic 
control ? Explain. 
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